6x2—x—-2 x2—12x+ 42 x% + 6x — 40
x2=-5x+6 x2—4x =21 x%2+13x - 30
x2+5x+37=7—-8x x%2 —10x — 24 x2+10x+30=6

5x% +23x =10

6x%+11x =2x2-7

2x% 4+ 5x — 12

10x% — 21 = 29x

4x%2 —7x — 12 = 6x + 23

3x2 —11x + 10

3x% + 16x + 20

(x—6)(x—7)

2x-=7)5x+3)=0

5x24+23x—10=0

x24+10x4+24=0

(x —35)(x+6)

Bx—-2)2x+ 1)

x+10=0and x+3 =0

x2—4x-21=0

x+5=0and 5x—2=0

4> +11x+7=0

x%+23x—50

x—7x+3)=0

x+6=0and x—1=0

(--3)(:+3)

(x—2)(3x—5) (x—=20)(x+7) (x+6)(x+4)=0
(x—4)(x+3) (x—5@x+7)=0 x=-—6 and x=1
2 1 6 5
(=-3)(x+3) ABE-3) (-3)(x-3)
x—5=0and4x+7=0 x+6)(x—1)=0 x? + 16x + 60

(-3 -+ 10

(-+3)(-3)

(- +3)(+3)

(x+4)(x—%>

x% +11x + 28

2x —7=0and5x+3=0

10x2 —29x —21 =10

x—7=0 and x+3=0

(--5)(+3)

x=—andx=—§ (x+10)(x+3)=0 (Bx+10)(x + 2)
20 7
(x——)(x+—> 4x2 —13x—35=0 x=—6andx = —4
4 4
) ) 8 3
x“—11x + 30 x“+13x+30=0 (x+§)(x—§)

4x+7=0andx+1=0 x? —29x — 210 (x—Z)(x—g)
x+7D(x+4) (x —5) (x+£) (x+4)(2x—-3)
(x —6)(x —5) x? + 5x — 24 (x+5)G5Bx—2)=0




<x+13—0>(x+2)

<x+£>(x+1)

(x+15)(x—2)

7
x=—zandx=—1

x?—x—12

(x+5)(x—§)

x% —13x — 140

x=—-10andx = -3

4x+7N)(x+1)=0

(x +10)(x +6)

(x —4)(x + 10)

x> +5x—6=0

(x +25)(x—2)

x=7andx = -3

x+6=0and x+4=0

(-+3)+3)

7
x=5andx=—z




